Mr. Cadman

Name: ________________
Math 8                   Integer Review

               Blk: ____
	
	Name 
	
	Date
	



Complete the following questions in the space provided.  You may not use a calculator. Show your work.  Put a box around your final answer. Mark and correct it using the attached key.  
1.  Place either < or > between the integers to make the statement true.

(a)  -10 ____ 1

(b)  3 ____ -2
(c)  0 ____ -1
(d)  -5 ____ -4

2.
Find the value of each expression.

(a)  (-2) + (-5)





(b)  (-3) + 7

(c)  (-4) – (-1)





(d)  2 – (-3)

(e)  (-1) + (-6) – 2




(f)  15 – (-4) + (-2)

(g)  -42 + 15 – 16




(h)  36 – 9 + (-1) – 10 – (-2)

3.  Find the value of each expression.


(a)
(+6) × (-5)
(b)
(-16)(-4)
(c)
(+4)(-12)(-2)(-1)


(d)
(-2)(+14)(0)
(e)
(-15) ÷ (+3) 
(f)
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(h)
(+15)(-26)(-1)
(i)
 (-39)(-23)

4.  Fill in the blank to make each equation true.

(a)  -3 + _____ = -10 




(b)  _____ – 6 = -18

(c)  (+7) × _____ = -35




(d)  ____ ÷ (-1) = 75
5.  Evaluate each expression. Show all of your steps clearly.


(a)  –20 ÷ (–5) – 2


(b)  3 – (–15) ÷ (–5)

(c)  -30 – (-5) × (-10) ÷ 2



(d)  
[image: image3.wmf]2

1

)

5

)(

3

(

-

+

-

-


(e) 
[image: image4.wmf]1

12

)

8

(

6

-

-

-







(f)  
[image: image5.wmf])

4

(

2

)

3

(

2

10

-

-


(g)  
[image: image6.wmf]2

)

4

(

)

11

(

)]

4

(

18

[

+

-

-

¸

-

-






(h)  
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6.  In a darts game, Suzanna and Corey each threw the darts 10 times. Corey had three (+2) scores, three (-3) scores, and four (+1) scores. Suzanna had four (+2) scores, four (-3) scores, and two (+1) scores. What was each person’s final score? Who won the game?

7.  For the following word problems, write an expression to represent the problem first and then solve it. Watch integer signs. Write a complete sentence as part of your answer.

(a)  Tyler decides that, starting this week, he will withdraw $5 from his savings account each week. How much will he have withdrawn 13 weeks from now? 
(b)  A snail travels 5 cm right each minute along a number line and is at zero now. When was the snail at -20 on the number line? 

(c)  The temperature change in a chemistry experiment was -2°C every 30 minutes. The initial temperature was 6°C. What was the temperature after 4 hours? 
ANSWERS TO CHAPTER 2 REVIEW

1.  (a)  <   (b)  >   (c)  >   (d)  <
2.  (a)  -7       (b)  +4      (c)  -3      (d)  +5 
     (e)  -9       (f)  17      (g)  -43     (h) 18

3.  (a)  -30   (b)  64   (c)  -96   (d)  0   (e)  -5   (f)  1   (g)  6   (h)  390   (i)  897

4.  (a)  -7   (b)  -12   (c)  -5   (d)  -75

5.  (a)  2   (b)  0   (c) -55   (d)  -8   (e)  3   (f)  2   (g)  1   (h)  2

6.  Corey: 1;  Suzanna: -2;  Corey won.

7.  (a)  (-5) × (+13) = -65 ($65 withdrawn)   
     (b)  (-20) ÷ (+5) = -4 (4 minutes ago)   
     (c)  (+6) + 4(-4) = -10°C  [or (+6) + 8(-2) = -10°C]
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